TALLER DE LIMITES




I. Resolver los siguientes limites algebraicos.

1. Lim4 20.Lim (x*+3x’ —4x* +x-6)

2. Lim2x 21.Lim (3x* - 2x* +10)
X——1 Xl

3. Lim —3x 22.Lim (5x* —2x+6)
X—-3 X4

4. Lim4 -x° 23. Lim (x"' +2x7 +5x7 - 3x +4)
X =0 ¥——3

5. Lim—6-x° 24.Lim (3x* —4x’ +5)
X3 X2

6. Lim —Erx" 25.Lim |x’ —x+ 1}-(213 —5)
Y3 8 X2

7. %HEIE 62 - x° 26.%:‘::5 2x* —1)-[2}:3 + 1}

8. Lim4x’ 2r7.Lim (413 —Ex}~ (;-:"'L +x° + ]}

X—l X -3

9. %ﬂﬂ 4 + x* + 2x + 1} 23.%{11;! (f —412;-:1 —1)

10, Lrﬂ: 2x' =3t —x —4} 29.%11?11 [3:!:" +2x? - 11}:3 - 2}

11. Lim |x* +x% + 2x+ ﬁ} 30. Lim (x" — 3:1:1}:3 +4x* - l]
X—-3 X5

12.%2{_1 5¢% - x* —3} 31,%_:;@:1 [31" + x° X;-:1 +]}

13. Lim (2x* +x+7) 32.Lim (x* +2x+3)x+1)
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' X% +2X -3
X>-1X2 + 5X + 4




